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L fif: BB 222200+ 32750 b, 2 T RB Y, v £
FHFIR 4,2 9H RIS y M2 R 10. 2,9, 2

w17, ‘

2 +DRAENE-T) BT RK.

3. 8 n=7 a,=3, a1=1, a3=0, ay=—4, a;=1, a5g=0,
GQ:O,C-’:—IZ.

& ff: £(0)=2(0)*—(0)*+3=3.
f(=1)=2(-1)8—(-1)2483=—2—-1+3=0.
F(3)=2%3%—-3243=54—9+3=48.
fB)=2%x8°—-8%+3=1024 - 64+3=963.

fi: £(0)=(02—3%0+2)/(2%045)=2/5.
(=2 = {(— 2)*—3(—2)+2} / {2(—2) +5}

= {44642} /{—-4+5}=12.
F(6)=(6"—3%X642)/(2X6+5)
=(36—1842)/(12 4+ 5) =20/17.

6. fig: fA)=14+4143=5.

: f)=4+V4+3=9.

F(5)=5+4/5+8=8++5.

. M fe—-2=2(z—-2)+3=22—4+43=22—1,

f(@®+1)=2(2+1)+3 =222 42+ 3 =22245.

& g £(0,0)=0%4-0—-0-48=8.

o



"R X R B EHE B

f(1,0)=1%41—0+8=10.

f(0,1)=0%4+0—1+8="7.

f(1,1)=13+1—14-8=9,

A=2 =3)=(=2)*4(—-2)—(-3)+8
=—8—-2+43+8=1.

L B 2K | R

# HE L

EXx 9 H
1. fi#: 4daz?y+(—6az’y) +5b2%y+ (- 3ba’y)

' =4aa?y — bax?y +5ba’y — 3bay
= —2ax’y+ 2bx*y = 2y (b —a).

2. R: (Ta®42a—b2 + (3a-b%— 2a2)+(b2—11—4a2)
=(7—2— 4 a4 2+3—4)at(—14+141)b2
=a?4-q4 b2

8. fig: 32 —5246) (2242 —8)+(—42*+3z-7)
=Q@+1-4Ha? 4 (—542+3)z+(6—-8-7)=—-9.

4 §Z: (4a“+a3b—,-5b5)+(—5-a3—6abz~&2b)+(%a“+1063)
+ (6b° — 15ab* — 4a% — 10a%)
-—(4+ +-—10) S (1 =1 )a2h(—6— ! 5)ab='

e (— 54104 6)0%= — 40 — 4a%b — 21ab? - 1155.
5. fR: (Batb—c)—(4a—2b+6c)=3a4b—c—4a+t2b—06¢
=-—a+38—-"Tc. et
6. f7: (z2°462%45)—(22? —5x+7) 2 6224 5 =222 52-7
=442+ 5z —2.
7. fiZ: (a4 b°) — (a®45a%b) =a®4 b®—a®— 5a2%b = b(4%-Ta?).
8 fif: (P+y®—6245y) —{(—22%—6zx+Ty—28) ’
+ (@® 2% - Sy + )}
=284 y8 — 6z e Sy — {2® — 624 2y 41}
=14y — bt Sy—a®+ 62— —1=9¢33y—1.
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8. fig: —(atb)+{—a—(20—0b)} —6(a—4b)
=—a—b—a—2a+b—6a+424b=—10a-24b.

10. fg: 6z2— {4z+ [2z— (3z+5:z:+7—])+3] -8}

‘ —Gx-4z—[2z (Bz+5z+7—-1)4+3]+48
=%2— 2+ Bzddz+T— 1)—34-8
=3z4bz47—1—34+8=8z411.

11. f3: 2a—[4a—c+ {3a—(44—c) — (b4 3c)} —6c]
=2a—[4a—c+ {3a—4b+c—b—3c} —6c]
=2a—[4a—-c+3a—4b+c—b—3c—6c]

: =2a—4at+c—3a+4b—ct b+ 3c+6c= —5a+4+5b49.

12. ff: 2—[Bzr+52)]—[z— By+2)]
=2—3x—y—5z— x4 3y4l2=2y—4x—2z,

13. ﬁg x’ - (x’+8x+5) 2?—7—22—82—5

— 2 —-8z—12.

14. ﬁl;. y"‘-l-x 7— (24— 9224 3y) =242 —T7— ::;‘—}-93:‘

=y?-8y— 244922 f -1,

82 B 11T
FE & $ 106 7
1. ;e 3 o Y64
, e sl
6— 4—2-+14—12410 '
— 9464 3—-21418-15 o

83— 2— 14 7— 645
6—134-7415—344+35—-2145
sy 627 — 132847254 152% — 3428 3522 — 21z 4 5.
2. 4 5—3+4 241
3—1- 2
15 =9 64«3
el
—~1046—4-2
B 14-147-5-8




ok x R M H &

L

& 152% — 14axt — a®23+-7ad2* — 5atz— 2ab.
s Tt Y el
141
1—-141—-141-1
1—141—-141=1
14040404040—1
#r: 28— g8, G
i C3—=24047
24+0—-345
6—440+414
—94 64 0-—21
15—104 0435
6—-4—-9435—-10—21-435
2 62%—42°— 92443523 — 1022 — 2124 35.
fi: (Tz—R2y) (4o — 5y) = 2822 — 432y 4 10y2,
Ji#: (c®—ax+4bz—22)(b42)

=(a® - ax)(0+z)+ (bx—2*) (b4-2)
=a% —abz+az—ax?4 bz —23
=a%- (a®—ab+ b2z —azx?—2b.

ﬁ: 1—1+5—2 \
4 1—-143
1-145—- 2
—141— 54 2
3— 3+4+15-6

1—249-10+4+17 -6
ey 28— 2254924 — 1023+ 1722 — 6.
fiz: 240—345

9—2—3+48—-5

C gr Q-2 9g20-8_ 322M-4 L 3 28~5__ 5,90-6,



" = 1i1 5

9.
10.

11.

12,

13.

14.

15.
15.

17.

18.

fi#:
e
iR

.74

f%:

&

iRk

fi:

i

A7

(@® = ab4-3b%(a®+ab — 3b%) =a* — (ab — 3b2)3
=gt —a?b2+4 6ab® — 90t
(z43y —22)(x— By +22)=2— (3y —22)%
=22 —9y2 4 12yz — 422
(P4zy+y'tr—y+1)(@—y-—1)
=[(#?+zy+y’ +@—y) F1][(z—y) —1]
= (2 +zy+ ) e~y — (S tazy+ y®) +(a—y) -~
=x3—y3—:cz-—:ry—y2+x2—2:ty+yz—
=28 —y3—38ay—1.
(a®+ b2+ 2+ be+ca—ab)(atb—c)
=(a(a—b4c)4 (b*+be4c?) |[at(b—c)]
=al[a®— (b —c)? ]+ a(d?+bc+c?) + (b2 4 botc?) (b —c)
=a®—nb?+2abc—act+4ab? -+ abetac? 4 b% — ¢?
= a8+ b8 — 84 3abe.

(3x—2y45)(xz— 4y +6)
—312—(3X4+2X1)x;+8y’+(3x6+5x1)z

—(2X6+4+5x4)y+430
=3a2%— 142y 4 8y% 4 232z— 32y 4 30.
(x4Ty—32)Rx+y—82)
=224 (1+14)zy41y?— (6 +8)xz — (3+56)y2 4 2422
=212 4 15zy 4 Ty? — 14xz — 59yz 4 242%
(0 2) (b — ) (B2 4 2%) = (b2 —22) (b2 22) = bh— 2,
(2% 4z+1) (2% -2+ 1) (a* —2®+1)
= [(2*41)2— 22] [2*-224 1] = [at 4 22 4 1] [:t‘—x’-l-l]
=[(atp1)2 -2t =282t + 1.
x4yt (—xtyt2)(z—y+2)(@ty—2)
[g42)? — 21 [2* -ty ~2)*]
-y +2)+ (y—2)2 12— (y+2)%y—2)?
—I‘+(2y + 224 2% — (y% —2%)2
— 4 2yt 4 22222 — A - 2y%2% - 2t
=222+ 2?2 - 22222 — 2t -yt — A
P+l FIE 2GR 14141 142434241,
14346474643 4+1 K 14+44+104+16419416410
441

g =k sl



T X x R/ B B B

19. M g § 312 2%k,

19 36 84 126 126 84 36 9 1

1 10 .45 120 210 252 210 120 45 10 1

20. fi2: (dz—3y)%=(42)%+2(4x)(—3y) +(—3p)?
=162%—24zy 49> :

(4z— 3y)*® .
= (4a)°+3(42)*(— 3y) +3(42) (— 3)*+ (- 3p)*
= 6428 — 1 44a%y 4 10823% —'27y%,

21 fB: (z+24+3—4u)?=[(z+ 2Y) 4 (3z—4u)]?
=(z+29)%+ 2 2+ 2y) (32 — 4u) 4+ (32 — 4u)?
=224y 4yt 4224 12y2 — 8zu— 16yu

+-922 — 24201612,

22 fR: (z+2+32)%=[(v+2y +32]°

= (x4 29)*+3(z+2y)%(32) + 3 (x+2y) (32)% +(32)®
—x“+ 32%(2y) + 3z 2y)* + (%) + 3(z* - 4ay + 4:/’)(327)

A 3(z42y)(92%) + 2728
=184 622y 4 12252 4 8y/% 4 9a?z 4 36xyz 4 36y%2

427228 4 54yz2 4 2728,

(x4 —32)=[(x+2y) —32)3
=(z+2y)2—3(x+ 2)%(32) + 3(x + 2u) (32)2— (32)?
=28 622y 4 12292+ 8y> - 9222 — 362yz — 36y22

: 4 2T x2? 4 5dyz2 — 2725, :

23. fR: (a+420)*(a—2b)%2= {a®— 4b%}2=a'—8a%b® + 16b".

24, fE: WEHZHRE 2T +19=46 K 46— 29—17.

B 2 ZARBIS aobir+ a1dig - o ves A a1gbs + b,

\




# | v

M 46—-15=31 % 31-19= 12
T8 2% ZAR B @iabig+ asghigeserees +azwbz

: 6 ZREBR 2(—=8)+3(=3)+4x 24+ (=T)(=1)
F+2%34(=5)0=-16—94+8+7+64+0= —4.

2® ZHBEE 0(—8)+0%3+2%24(—~3)(=1)

F4X04-(—7)342X04+(—-5)0=04+04443+40

—214040= —14. :

zt ZRES 4(—8)+(—1)3+0%x2+2(—1)

(=5 R0=—-32—-214+0—-240= —55,

L @+y+z)’- (@ +yt+29)
=(z+y)*+32(2+y)* + 32X a4 y) +of —a —y® 27
=3ay(@+y) 32 (@+y)?+ 32z 1+ v) '
=3(z+y) [y +2(zty) +2%]
=3@+y)(y+2)(z+2).

o ((12+02)(.‘C +y2)._.a2x2+b2 2+b2 2+‘121 X
= a%2% 1 2abzy 4 b%y* 4 b*a? — 2abxy 4 a*y?
= (az+by)* + (bx —ay)™.

3. (03— b%)(2P—y2) = o222} Doy — hiz2— aly?
=a222 4 2abxy + 62y — b’a? — 2abxy — a®y?
= (az+by)? — (bx+ay)*.

4. (a+b+c)P=a*+3a*(b+c)+3a(d+c)?+(btc)®
=a3+43a%(b+-c) + 3ab*+4-6abc+4-3ac® 4 b*

. +3b%+3bc% ¢t
=a® - b34-c3--3a%(b+c) + 3b%(a+c)
+3c%(a+tb) + 6abe.

s (2082070 = 3910715,/

(—2%82%)7T = — 28556565

(athPe) 2= a“bz’""c"".

(ambn(,Zn B gMapn cﬂn.

23, ﬁg (_abz 8)(aﬂb)2(_acs)5_( ab?c 8)(0,61)2)(—(15015)
__al26401

: z 2xty’ 48(aadylt)? = (— 82%'2) (a%x1%%2%)
= — 8a2glyd4,

®f BE 1Iv
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HEEHIORF

1. fB: 15a%c®/10ab%c®=3a?/2b.
2. fig: 752%y%'%/ —1006a"2® = — 3y'z /4aad.
3. ff: — 352%mym/[28xmyTir= — Sam [4pn,
4 fig: —54{(abH%}%/ —18{a2 2}
= —54q106%0:0/ — 184a°b13¢8 = 3q7b% /c.
2
5. .z _y-a?,/ :zrg/\z—yL Ty
B o T et 5t
6. mm: @)=+
s @—y) @ —zy+y?H
=(-r 9@ fay+y?) (r4y) @ -2y +4°)
(z— (2% —2y+y*)
=(z+y) (P +ay+i2).
L (a—b6)2b—=c)(c—a)
5 B: =0 e=ora=0

_ {a—b%(b—c)¥c—a)!
T —(a=0)(b—0c)*[—(c—a)’]
=(a—b)b—¢c)(c—a).
. 30a%56%:t — 250335 4-20atb1c"
8. M © —53b%*
= — 6abc -+ 5a%c? — 4a®h’ct.
s 3y=2)'—-2z—9)°+5—y)?
9. fg: W —2)?
_@=y)’[3—y)—2@—y)+5]
(z—y)? -
=3@—y)*-xz—y)+5.
10. f#: 4a" % (3ab%c2)2 = (abc)? = 6be
=4a" % 9azb°c‘ = a2b%c%=6bc = 6a"b%.
11. #: () a +{a® (et +2?Ka) % (a* X a+a?)}
=a’+ {a®~adx a?)
_uT—a‘—-a
(2) a'= {a“——(a‘—azxa)x’a“XG—-—az)}
=a'+{a’+a'Xa®+ax . .?xXa+a?}

N -




2 RN

12.

"

=ad"+axat-a?Xa+-at-axa®

=a5,
—4a*(z%y )% —4da?2%* _  2ax?
Ra(a2y?)? 2axtys y?

. —g—% 5 i

2 B8 V

EAx 51197
15— 7 +50=224+5— 8z
845zx=5—=x :
6r=—3
PR TR
2243z — 422 202 = 152 — 322 — 16
— 3224232 =15z —322 - 16
8z=-—-16
= —2.

2243z 42—22—T2x—12=0

Sk 1K

2—2[z—8z—12—5]=3{2z—[z—8z+327} —2

=2z Cx424410=62x— 324242 —96—2
222132 '
: Sy,
2{3[20x—4-8]—20} -7=1
{60z—36—20}—-7=1
120x—-112-7=1



10 I

1202=120

| ety
TN e
: {.1_0 2+4§=1
kg

1

wl""

ke =
12 0 24+ G
13077 %4
' SNy
8. %': 15—< g+2x 40— 4+‘1:xé)+5x+10
30—1042 =40 —4+72452x410
- 8z=-—26 :
s
4 f
9. @ 3x—91+9=—2x+8+9x+15—30
3 12
 ‘ 1224-32=7z-"
Sr=—39
'\ x_—_%g
s e - 5 2
10. ;0 10.1:——.8+.6391:—.015_139152 Sz
20r—1.64.782—.03=13.25 -8z
‘ 28.78x=15.53
1558779
T 2878 1439
11. % 3ex—Sa4b—2c=6b—-a—3bx -2
: 3c.1:+3b:1:-—5b+4a
e 5b+4a
- 3(c+b)
12. ﬁg ﬁjzab -az—-br4cx+be—ab - cxd-ax-tac—be -

—aqzx+hz=1-z

.

oe =




